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Bh ELE 58 39 | 38|77 10.0 |67.0 31 | BE EE 43 | 48 | 91 1 15.0 | 76.0
2 |Hf FW—ER 42 | 44 1 86 | 17.0 |69.0 32 |iBEH EB4XE 50 | 47 | 97 1 21.0 |76.0
3 AR BX 40 | 39 | 79| 9.0 |70.0 33 IE = 49 | 49 | 98 1 22.0 | 76.0
4 |BR % 41 | 40 | 81 | 11.0 | 70.0 34 |tBHE HEH 52 | 51 [103 | 27.0 | 76.0
5 |$BME %M 48 | 46 | 94 1 24.0 | 70.0 3B KA &— 48 | 39 | 87 110.0 | 77.0
6 HR fhiF 44 | 45 | 89 1 18.0 | 71.0 36 (&0 HEi 49 | 39 | 88 110.0 | 78.0
7 |#0 EARF 46 | 47 | 93 1 22.0 | 71.0 37 BT AR 49 | 42 | 91 113.0 | 78.0
8 Rk R 42 | 38 | 80 | 8.0 |72.0 38 |f8E RF 54 | 50 [104 | 26.0 | 78.0
9 B®E IE— 42 | 42 | 84 1 12.0 | 72.0 39 [RE #WH 42 | 46 | 88 | 9.0 | 79.0
10 | #— 37 141 |78 | 5.0 (73.0 40 |EHB R#Eh 47 | 50 | 97 1 18.0 | 79.0
11 |BL 5 38 | 40 | 78 | 5.0 |73.0 N1 |EFRER mMFE 44 | 53 | 97 118.0 | 79.0
12 |Hh[R #— 40 | 39 | 79| 6.0 |73.0 42 kB BRIA 53 | 47 [100 | 21.0 | 79.0
13 |"r% IE# 41 | 41 1 82| 9.0 |73.0 43 |H% BEF 52 | 55 [107 1 28.0 | 79.0
14 |FENl #— 45 | 47 | 92 119.0 | 73.0 44 AR - 42 | 44 |1 86 | 6.0 |80.0
15 |Bf B— 45 | 50 | 95 1 22.0 | 73.0 45 |t E¥ 48 | 42 | 90 1 10.0 | 80.0
16 |28 EC 50 | 49 | 99 1 26.0 | 73.0 46 HO =% 44 | 57 [101 | 21.0 | 80.0
17 | K &R 52 | 49 (101 | 28.0 | 73.0 47 |EH & 48 | 54 102 | 22.0 | 80.0
18 |#iH #X 36 | 40 | 76 | 2.0 | 74.0 |~'2%9m 48 |AIE I 41 | 45 | 86 | 5.0 |81.0
19 A% = 39 | 45 | 84 110.0 | 74.0 49 @B - 49 | 49 | 98 | 17.0 |81.0
20 |KHT EE 47 | 41 | 88 | 14.0 | 74.0 50 [iE:Z2 HRF 56 | 52 [108 | 27.0 | 81.0
21 Bt EF 45 | 45 | 90 1 16.0 | 74.0 51 |E# J\E 56 | 53 [109 | 28.0 | 81.0
22 |EF BE 50 | 41 | 91 | 17.0 | 74.0 52 |iE& {h— 45 | 48 | 93 1 11.0 | 82.0
23 |EX X 40 | 43 | 83 | 8.0 |75.0 53 |EE& EM 60 | 56 (116 | 34.0 | 82.0
24 |®Bi; (& 44 | 41 | 85 1 10.0 | 75.0 54 |E1E ES 63 | 57 120 | 37.0 | 83.0
25 KX FF 42 | 45 | 87 1 12.0 | 75.0 55 Rl EE 47 | 46 | 93 | 7.0 |86.0
26 | —ER 45 | 42 | 87 | 12.0 | 75.0 56 ¥ RE 69 | 55 |124 | 33.0 [ 91.0
2] |&E& ERE 49 | 43 | 92 | 17.0 | 75.0 57 |&#H M= 66 | 57 123 1 24.0 {99.0
28 |HRT =F 43 | 42 1 85| 9.0 |76.0
29 |BK #HX 43 | 45 | 88 | 12.0 | 76.0 N E— 26.0 [-26.0 |NR
30 |®KW & 43 | 47 | 90 | 14.0 | 76.0




